SHIMANO Spare parts list for after market.

SHIMANO EUROPA ) ® You may photocopy this sheet and use it as an order form.
Industrieweg 24 NL-8071 CT Nunspeeta Holland o Gjig knnen dieses Blatt kopieren und als Bestellformular verwenden.

Phone 31-341-272222 oV hot . tte feuill t I'utili b d d
SHIMAND RMERICAN CORPORATION OuUS pouvez pnhotocopler cette teulllie et l'utiliser comme bon ae commanae.

One Holland Irvine CA 92618 U.S. A, ¢ Dit blad kan gecopieerd en als bestelformulier gebruikt worden.
Phone 949-951-5003 ¢ Potete fotocopiare questo foglio e usarlo come modulo di commissione.
SHIMANO V-Brake Nov. 1999

B R' M 42 O-S Silver Version
B R' M 42 O-L Black Version

S65T Brake Shoes

ITEM SHIMANO
NO. CODE NO. DESCRIPTION

* Y-84F 10100 Link Fixing Bolt (M6 x 16 / Stainless)

Y-82N 18800 Link Fixing Bolt (M6 x 16)

Y-8B0 98010 Spring Tension Adjustment Screw (M4 x 7) & Stopper

Y-8B0 98030 Shoe Fixing Nut Unit

Y-8GP 98100 S65T Brake Shoe Set (10 pairs)

Y-8BM 98100 M70T3 Brake Shoe Set (Pair) for M-System

Y-8B0 98040 Cable Fixing Bolt (M6 x 11.5/ Stainless) & Plate

Y-8B0 98020 Cable Fixing Bolt (M6 x 11.5) & Plate

N| O (oW

Y-8BP 14000 Boot

Y-8AA 98070 Inner Cable Lead Unit (90°)

8 Y-8AA 98080 Inner Cable Lead Unit (135°)

Y-8AA 98120 Inner Cable Lead Unit (45°)

IL/BR Printed in Japan 9911-1901A



